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Theorem	
   5.13	
  (L'Hospital's	
  Rule)	
  For	
  f,	
  g	
  :	
  (a,	
  b)	
  ! 	
  	
  and	
  g'(x)	
  ≠	
  0,	
  " 	
  x	
  # 	
  (a,	
  b),	
  	
  

	
   	
   if	
  (i)	
  	
  

€ 

f '(x)
g'(x)

! 	
  A	
  as	
  x	
  ! 	
  a	
  and	
  (ii)	
  f	
  (x)	
  ! 	
  0	
  and	
  g(x)	
  ! 	
  0	
  as	
  x	
  ! 	
  a;	
  or	
  	
  

	
   	
   (ii)	
  g(x)	
  ! 	
  +∞	
  as	
  x	
  ! 	
  a,	
  then	
  

€ 

f (x)
g(x)

! 	
  A	
  as	
  x	
  ! 	
  a.	
  

Theorem	
   5.15	
  (Taylor's	
  Theorem)	
  	
  For	
  f	
  :	
  [a,	
  b]	
  ! 	
  ,	
  n	
  # 	
  ,	
  if	
  f	
  (n–1)	
  is	
  continuous	
  	
  
	
   	
   on	
  [a,	
  b]	
  and	
  f	
  (n)	
  exists	
  on	
  (a,	
  b),	
  then	
  " 	
  $ ,	
  %	
  # 	
  [a,	
  b]	
  and	
  for	
  	
  

	
   	
   P(t)	
  =	
  

! 

f (k )(" )
k!

(t # " )k
k=0

n#1$ &	
  $ 	
  <	
  x	
  <	
  %	
  ∋	
  f	
  (%)	
  =	
  P(%)	
  +	
  

€ 

f (n)(x)
n!

(β −α)k .	
  

	
  
Exam	
   	
   Exam	
  1	
  will	
  cover	
  Chapters	
  4	
  and	
  5,	
  
Discussion	
   Definitions,	
  Proofs	
  of	
  most	
  important	
  theorems,	
  Weeks	
  1,	
  2,	
  3.	
  
	
  
Theorem	
   5.13	
  L'Hospital's	
  Rule	
  
	
   	
   Suppose	
  f,	
  g	
  :	
  (a,	
  b)	
  ! 	
  	
  and	
  g'(x)	
  ≠	
  0,	
  " 	
  x	
  # 	
  (a,	
  b)	
  where	
  	
  
	
   	
   (–∞	
  ≤	
  a	
  <	
  b	
  ≤	
  +∞).	
  	
  And	
  suppose	
  
	
   	
   (i)	
  	
  

€ 

f '(x)
g'(x)

! 	
  A	
  as	
  x	
  ! 	
  a	
  and	
  (ii)	
  f	
  (x)	
  ! 	
  0	
  and	
  g(x)	
  ! 	
  0	
  as	
  x	
  ! 	
  a;	
  or	
  

	
   	
   (i)	
  	
  

€ 

f '(x)
g'(x)

! 	
  A	
  as	
  x	
  ! 	
  a	
  and	
  (ii)	
  g(x)	
  ! 	
  +∞	
  as	
  x	
  ! 	
  a.	
  	
  Then	
  

€ 

f (x)
g(x)

! 	
  A	
  as	
  x	
  ! 	
  a.	
  

	
   	
   Proof:	
  
	
   	
   Case	
  1:	
  	
  Assume	
  –∞	
  =	
  A.	
  

	
   	
   Let	
  ' 	
  >	
  0	
  and	
  let	
  M	
  <	
  0.	
  	
  Then	
  by	
  (i)	
  &	
  ( 	
  >	
  0	
  ∋	
  a	
  <	
  w	
  <	
  a	
  +	
  ( 	
  ) 	
  

€ 

f '(w)
g'(w)

	
  <	
  2M.	
  	
  	
  

	
   	
   For	
  (x,	
  y)	
  * 	
  (a,	
  a	
  +	
  ! ),	
  &	
  t	
  # 	
  (x,	
  y)	
  	
  ∋	
  

! 

f (x) " f (y)
g(x) " g(y)

=
f '(t)
g'(t)

,	
  hence	
  

! 

f (x) " f (y)
g(x) " g(y)

<	
  2M.	
  

	
   	
   Note	
  that	
  g(x)	
  –	
  g(y)	
  ≠	
  0	
  as	
  g'(x)	
  ≠0	
  " 	
  x	
  # 	
  (a,	
  b).	
  
	
   	
   Suppose	
  f	
  (x)	
  ! 	
  0	
  and	
  g(x)	
  ! 	
  0	
  as	
  x	
  ! 	
  a.	
  	
  	
  

	
   	
   Then	
  

€ 

lim
x→ a

f (x) − f (y)
g(x) − g(y)

=
0− f (y)
0− g(y)

=
f (y)
g(y)

≤ lim
x→ a

2M ,	
  and

! 

lim
y" a

f (y)
g(y)

	
  ≤	
  

€ 

lim
y→ a
2M 	
  =	
  2M	
  <	
  M.	
  

	
   	
   + 	
  	
  

! 

lim
y " a

f (y)
g(y)

	
  =	
  –	
  ∞.	
  

	
   	
   Suppose	
  g(x)	
  ! 	
  +∞	
  as	
  x	
  ! 	
  a.	
  	
  Then	
  &	
  y1	
  # 	
  (a,	
  a	
  +	
  ( )	
  ∋	
  g(y1)	
  >	
  0	
  and	
  

€ 

f (y1)
g(x)

<	
  |M|.	
  

	
   	
   Thus	
  " 	
  x	
  # 	
  (a,	
  a	
  +	
  ( 1),	
  g(x)	
  >	
  g(y1)	
  >	
  0,	
  hence

€ 

g(x) − g(y1)
g(x)

	
  >	
  0.	
  

	
   	
   Then	
  

€ 

g(x) − g(y1)
g(x)

• f (x) − f (y1)
g(x) − g(y1)

	
  <	
  

€ 

2M • g(x) − g(y1)
g(x)

.	
  

	
   	
   + 	
  	
  	
  

€ 

lim
x→ a

f (x)
g(x)

−
f (y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 	
  ≤	
  

€ 

lim
x→ a

2M 1−
g(y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 	
  =	
  2M	
  <	
  M.	
  	
  + 	
  	
  	
  Hence,

€ 

lim
x→ a

f (x)
g(x)

	
  =	
  –∞.	
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   Case	
  2:	
  	
  Assume	
  –∞	
  <	
  A	
  <	
  +∞.	
  	
  	
  
	
   	
   Let	
  ' 	
  >	
  0.	
  	
  Then	
  by	
  (i)	
  	
  

	
   	
   &	
  ( 	
  >	
  0	
  ∋	
  a	
  <	
  w	
  <	
  a	
  +	
  ( 	
  ) 	
  

€ 

f '(w)
g'(w)

− A 	
  <	
  ' /2.	
  	
  So	
  A	
  –	
  ' /2	
  <	
  

€ 

f '(w)
g'(w)

	
  <	
  A	
  +	
  ' /2.	
  	
  	
  

	
   	
   Let	
  c	
  =	
  a	
  +	
  ( ,	
  let	
  q	
  =	
  A	
  +	
  ' ,	
  and	
  let	
  r	
  =	
  A	
  +	
  ' /2.	
  	
  Then	
  " 	
  w	
  # 	
  (a,	
  c),	
  r	
  –	
  ' 	
  <	
  

! 

f '(w)
g'(w)

	
  <	
  r.	
  	
  	
  

	
   	
   By	
  Cauchy's	
  Mean	
  Value	
  Theorem,	
  (	
  If	
  f,	
  g	
  :	
  [a,	
  b]	
  " 	
  ! 	
  are	
  continuous	
  on	
  [a,	
  b]	
  and	
  	
  
	
   	
   differentiable	
  on	
  (a,	
  b),	
  then	
  #	
  x0	
  $ 	
  (a,	
  b)	
  ∋	
  [f	
  (b)	
  –	
  f	
  (a)]g'(x0)	
  =	
  [g(b)	
  –	
  g(a)]f	
  '(x0).),	
  

	
   	
   if	
  (x,	
  y)	
  * 	
  (a,	
  c),	
  &	
  t	
  # 	
  (x,	
  y)	
  	
  ∋	
  

! 

f (x) " f (y)
g(x) " g(y)

=
f '(t)
g'(t)

,	
  hence	
  r	
  –	
  ' 	
  <	
  

! 

f (x) " f (y)
g(x) " g(y)

<	
  r.	
  

	
   	
   Suppose	
  f	
  (x)	
  ! 	
  0	
  and	
  g(x)	
  ! 	
  0	
  as	
  x	
  ! 	
  a.	
  

	
   	
   Then	
  

! 

lim
x " a

f (x) # f (y)
g(x) # g(y)

=
0 # f (y)
0 # g(y)

=
f (y)
g(y)

.	
  

	
   	
   And	
  A	
  –	
  ' 	
  <	
  r	
  –	
  ' 	
  =	
  

! 

lim
y " a
(r #$) 	
  ≤	
  

€ 

lim
y→ a

f (y)
g(y)

	
  ≤	
  

€ 

lim
y→ a

r 	
  =	
  r	
  <	
  q	
  =	
  A	
  +	
  ' .	
  	
  	
  

	
   	
   + 	
  	
  

€ 

lim
y→a

f (y)
g(y)

− A 	
  <	
  ' ,	
  hence,

€ 

lim
y→a

f (y)
g(y)

	
  =	
  A.	
  

	
   	
   Suppose	
  g(x)	
  ! 	
  +∞	
  as	
  x	
  ! 	
  a.	
  	
  Then	
  &	
  y1	
  # 	
  (a,	
  c)	
  ∋	
  g(y1)	
  >	
  0.	
  
	
   	
   And	
  &	
  ( 1	
  >	
  0	
  ∋	
  ( 1	
  <	
  ( 	
  and	
  |w	
  –	
  a|	
  <	
  ( 1	
  ) 	
  g(w)	
  ≥	
  g(y1).	
  
	
   	
   Let	
  c1	
  =	
  a	
  +	
  ( 1.	
  	
  	
  
	
   	
   Note	
  that	
  g'(x)	
  ≠	
  0	
  " 	
  x	
  # 	
  (a,	
  b)	
  ) 	
  g	
  is	
  strictly	
  increasing	
  or	
  decreasing.	
  
	
   	
   Since	
  g(x)	
  ! 	
  +∞	
  as	
  x	
  ! 	
  a	
  and	
  a	
  <	
  x,	
  then	
  g	
  is	
  strictly	
  decreasing.	
  

	
   	
   Thus	
  " 	
  x	
  # 	
  (a,	
  c1),	
  g(x)	
  >	
  g(y1)	
  and	
  g(x)	
  >	
  0,	
  hence

! 

g(x) " g(y1)
g(x)

	
  >	
  0.	
  

	
   	
   Then	
  

! 

(r " #) g(x) " g(y1)
g(x)

	
  <

€ 

f (x) − f (y1)
g(x)

=
g(x) − g(y1)

g(x)
• f (x) − f (y1)
g(x) − g(y1)

	
  	
  

	
   	
   <	
  

€ 

r • g(x) − g(y1)
g(x)

= r 1− g(y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ .	
  

	
   	
   So	
  then	
  	
  A	
  –	
  ' 	
  <	
  r	
  –	
  ' 	
  =	
  

€ 

lim
x→a

(r −ε) 1−
g(y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 	
  ≤	
  

€ 

lim
x→ a

f (x)
g(x)

	
  	
  

	
   	
   =	
  

€ 

lim
x→ a

f (x)
g(x)

−
f (y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 	
  ≤	
  

€ 

lim
x→ a

r 1− g(y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 	
  =	
  r	
  <	
  q	
  =	
  A+	
  ' .	
  

	
   	
   + 	
  	
  

€ 

lim
x→ a

f (x)
g(x)

− A 	
  <	
  ' ,	
  hence,

€ 

lim
x→ a

f (x)
g(x)

	
  =	
  A.	
  

	
   	
   Note	
  that	
  if	
  A	
  =	
  –	
  ∞,	
  then	
  " 	
  q	
  # 	
  ,	
  

€ 

lim
x→ a

f '(x)
g'(x)

< q ,	
  hence	
  

€ 

lim
x→ a

f (x)
g(x)

	
  =	
  –∞.	
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   Case	
  3:	
  	
  A	
  =	
  +	
  ∞	
  

	
   	
   Let	
  ' 	
  >	
  0	
  and	
  let	
  M	
  >	
  0.	
  	
  Then	
  by	
  (i)	
  &	
  ( 	
  >	
  0	
  ∋	
  a	
  <	
  w	
  <	
  a	
  +	
  ( 	
  ) 	
  

€ 

f '(w)
g'(w)

	
  >	
  2M.	
  	
  	
  

	
   	
   For	
  (x,	
  y)	
  * 	
  (a,	
  a	
  +	
  ! ),	
  &	
  t	
  # 	
  (x,	
  y)	
  	
  ∋	
  

€ 

f (x) − f (y)
g(x) − g(y)

=
f '(t)
g'(t)

,	
  hence	
  

€ 

f (x) − f (y)
g(x) − g(y) 	
  

>	
  2M.	
  

	
   	
   Suppose	
  f	
  (x)	
  ! 	
  0	
  and	
  g(x)	
  ! 	
  0	
  as	
  x	
  ! 	
  a.	
  	
  	
  

	
   	
   Then	
  

€ 

lim
x→ a

f (x) − f (y)
g(x) − g(y)

=
0− f (y)
0− g(y)

=
f (y)
g(y)

≥ lim
x→ a

2M ,	
  and

! 

lim
y" a

f (y)
g(y)

	
  ≥	
  

€ 

lim
y→a

2M 	
  =	
  2M	
  >	
  M.	
  

	
   	
   + 	
  	
  

€ 

lim
y→ a

f (y)
g(y)

	
  =	
  +	
  ∞.	
  

	
   	
   Suppose	
  g(x)	
  ! 	
  +∞	
  as	
  x	
  ! 	
  a.	
  	
  	
  

	
   	
   Then	
  &	
  y1	
  # 	
  (a,	
  a	
  +	
  ( )	
  ∋	
  g(y1)	
  >	
  0	
  and	
  

€ 

f (y1)
g(x)

> M 	
  and	
  

! 

1"
g(y1)
g(x)

>
1
2
.	
  

	
   	
   Again,	
  " 	
  x	
  # 	
  (a,	
  a	
  +	
  ( 1),	
  g(x)	
  >	
  g(y1)	
  >	
  0,	
  hence

€ 

g(x) − g(y1)
g(x)

	
  >	
  0.	
  

	
   	
   Then	
  

! 

g(x) " g(y1)
g(x)

¥
f (x) " f (y1)
g(x) " g(y1)

	
  >	
  

! 

2M • g(x) " g(y1)
g(x)

.	
  

	
   	
   Thus	
  

€ 

f (x)
g(x)

> 2M 1− g(y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ +

f (y1)
g(x)

.	
  	
   	
  

	
   	
  

€ 

lim
x→ a

f (x)
g(x)

> lim
x→ a

2M 1− g(y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ +

f (y1)
g(x)

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ > M + M >	
  M.	
  

	
   	
   + 	
  	
  	
  Hence,

€ 

lim
x→ a

f (x)
g(x)

	
  =	
  +∞.	
  

	
  

Examples	
   (1)	
  	
  

€ 

lim
x→ 0

sin x
x
	
  =	
  

! 

lim
x " 0

cosx
1

	
  =	
  1.	
  

	
   	
   (2)	
  	
  

! 

lim
x " 0

cos x #1
x 2

	
  =	
  

! 

"
1
2
	
  

	
   	
   Note	
  that	
  cos	
  x	
  =	
  1	
  –	
  
  

! 

x2

2!
+

x4

4!
"

x6

6!
+! 	
  	
  	
  

	
   	
   And	
  so	
  (cos	
  x)'	
  =	
  –x	
  +	
  
  

€ 

x 3

3!
– x

5

5!
+	
  

	
   	
   So	
  then	
  

! 

cos x " 1( )#

x 2( )#
	
  =	
  (–x	
  +	
  

  

! 

x3

3!
– x5

5!
+)/(2x)	
  =	
  

€ 

−
1
2
.	
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Theorem	
   5.15	
  Taylor's	
  Theorem	
  
	
   	
   Let	
  f	
  :	
  [a,	
  b]	
  ! 	
  	
  and	
  let	
  n	
  # 	
  .	
  	
  If	
  f	
  (n–1)	
  is	
  continuous	
  on	
  [a,	
  b]	
  and	
  f	
  (n)(t)	
  	
  

	
   	
   exists	
  " 	
  t	
  # 	
  (a,	
  b),	
  then	
  " 	
  $,	
  %	
  # 	
  [a,	
  b]	
  and	
  for	
  P(t)	
  =	
  

€ 

f (k)(α)
k!

(t −α)k

k=0

n−1

∑ ,	
  

	
   	
   &	
  $ 	
  <	
  x	
  <	
  %	
  ∋	
  f	
  (%)	
  =	
  P(%)	
  +	
  

€ 

f (n)(x)
n!

(β −α)k .	
  

	
   	
   Proof:	
  

	
   	
   For	
  n	
  =	
  1,	
  P(t)	
  =	
  

! 

f (0)(" )
0!

(t # " )0 = f (" ) 	
  and	
  Cauchy's	
  Mean	
  Value	
  	
  

	
   	
   Theorem	
  gives	
  us	
  that	
  &	
  x	
  # 	
  ($ ,	
  %)	
  ∋	
  

€ 

f (β) − f (α)
β −α

= ʹ′ f (x) .	
  	
  And	
  	
  

	
   	
   f	
  (%)	
  =	
  f	
  ($)	
  +	
  f	
  '(x)(%	
  –	
  $)	
  =	
  P(%)	
  +	
  

! 

" f (x)
1!

(# $ %)1	
  and	
  the	
  theorem	
  holds.	
  

	
   	
   Let	
  n	
  >	
  1	
  and	
  define	
  M	
  # 	
  	
  by	
  f	
  (%)	
  –	
  P(%)	
  =	
  M(t	
  –	
  $)n.	
  
	
   	
   Define	
  g(t)	
  =	
  f	
  (t)	
  –	
  P(t)	
  –	
  M(%	
  –	
  $)n.	
  

	
   	
   Note	
  that	
  P(t)	
  =	
  
  

€ 

f (α) + f '(α)(t −α) +
f (2)(α)
2!

(t −α)2 ++
f (n−1)(α)
(n −1)!

(t −α)n−1 ,	
  

	
   	
   P'(t)	
  =
  

! 

f '(" )+ f (2)(" )(t # " )+ f (3)(" )
2!

(t # " )2 ++
f (n#1)(" )
(n # 2)!

(t # " )n#2 ,	
  

	
   	
   P(2)(t)	
  =	
  
  

€ 

f (2)(α) +
f (3)(α)
1!

(t −α) +
f (4 )(α)
2!

(t −α)2 ++
f (n−1)(α)
(n − 3)!

(t −α)n−3,	
  

	
   	
   P(n–1)(t)	
  =	
  

€ 

f (n−1)(α) .	
  
	
   	
   Thus	
  P($)	
  =	
  f	
  ($),	
  P'($)	
  =	
  f	
  '($),	
  ...,	
  P(n–1)($)	
  =	
  f	
  (n–1)($).	
  
	
   	
   And	
  g($)	
  =	
  f	
  ($)	
  –	
  P($)	
  –	
  M($ 	
  –	
  $)n	
  =	
  f	
  ($)	
  –	
  f	
  ($)	
  =	
  0,	
  
	
   	
   g'($)	
  =	
  f	
  '($)	
  –	
  P'($)	
  –	
  (M($ 	
  –	
  $)n)'	
  =	
  f	
  '($)	
  –	
  f	
  '($)	
  =	
  0,	
  ...,	
  
	
   	
   g(n–1)($)	
  =	
  f	
  (n–1)($)	
  –	
  P(n–1)($)	
  –	
  (M($ 	
  –	
  $)n)(n–1)	
  =	
  f	
  (n–1)($)	
  –	
  f	
  (n–1)($)	
  =	
  0.	
  
	
   	
   Proof	
  will	
  be	
  finished	
  Monday.	
  
	
  
Note	
   	
   Taylor's	
  Theorem	
  is	
  useful	
  for	
  approximating	
  a	
  function	
  value	
  at	
  a	
  given	
  point	
  
	
   	
   by	
  polynomials.	
  
	
  
	
   	
   	
  


